Unit 5: Radical Expressions Name:

Secondary 3H: 5-4 Notes: Solving Radicals

Isolating the Radical
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Solving with Exponents
* HowcanI solve an equation in rational exponent form?
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* To solve equations of the form x» = k, raise each side of the
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* Earth Science Example

* For Meteor Crater in Arizona, the formula d = Zij;—vz- relates the

diameter d of the rim (in meters) to the m cubic.mete rs).

What is thelvolumelof Meteor Crater? (All values are approximate.)

i *ﬁ'}h@@‘, ”‘% . b Hint: There are 1000 meters in a kilometer
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= Extraneous Solutions AGAIN!!!
= Raising both sides of an equation to a POWER,  can

introduce solutions of the modified equation that are not solutions

of the original equation.
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* Two Radicals in the same equation...

= Isolate the more _COMPLEY radical.
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